HRLAKR—k
SEELTFH

Fa3EBEVEVLLXEFEFR KRS
SFI5ESH13~14H
A A7) —F #1546

ROUND1-GT
JEAE 4 Hi BT & % TEC _ ATH Total
1| 228 SRR egg B 16.24 7.02 23. 26
2 (s AP == 2B 16.38 6.84 23. 22
3T EERk ENGIRCE SR ] S Bk 15.12  6.54 21. 66
4 |FFHE O T e 1 A o BT P EE 15.12 6.48 21. 60
5 |REE P tRiEY g2 LB 14.00 5.88 19. 88
6 |{E H{AE EREE St vl o SNV =12 13.58 5.70 19. 28

ROUND1-G2
JEAE 4 Hi BT & % TEC _ ATH Total
1 |FEE RAE WAL gt B 16.24 17.08 23. 32
2 &) Kb A R M= 15.82  6.96 22.78
3 | =i ap—2 N M= 14.98 6.54 21.52
4 xR FnFE LS o e HBE 14.28 6.12 20. 40
5|l H%E HEE = l)= 14.00 5.94 19. 94
6 |FTH FHE FLIERZE T3 (R Wgg = B 13.16 5.58 18. 74




EERLAR—F F43EdEEVELLEFEFRKRE

AF5E5813~14H

SHEELZFH AHRAT)—F*LiR46
ROUND1-G3

JEAE 4 Hi GIE: 4 TEC  ATH Total
R [ S S EEaiC] Y B 16.52 17.08 23. 60
2 |(EEn iR SREAE 2 B 15.82 6.84 22. 66
3 ek AREE i N M= 15.68 6.66 22. 34
4 |ferg AR a2y —X A2 A1 B 14.84 6.12 20. 96
5 [ AEmE B Yot h B 14.14 5.70 19. 84
6 | LB &= 75 BE B W2 H B 13.86 5.94 19. 80
ROUND1-G4
JEAE 4 Hi G %4 TEC  ATH Total
I Bl ot/ B AR R Yt B 17.08 7.26 24. 34
2 |[gAR % R Vg2 B 16.66 17.08 23. 74
3 | VU= B BES WgE B 15.54 6.66 22. 20
4 |BRA FiR a2y —X A2 A1 B 15.26 6.48 21. 74
5 [ FEK B 2= 25 50 FLIR YT B 14.84 6.30 21. 14
6 [HHN SRS STEN RS R =] 13.02 5.52 18. 54




